CHAPTER IV

FINDING AND DISCUSSION

Chapter 1V describes about the result of the research. The description is
divided into two section, findings and discussion. Further the explanation can be

read as in the following writing:

A. Findings
As the writer explain in chapter I, this research aims to describe the
grammatical errors in writing paraphrase made by seventh semester students
of English Department at UIN Antasari Academic Year 2017/2018. The
writer has given 5 passages to paraphrase as a writing test and took 40
students as a subject for this research.
1. Description of Grammatical Errors
To know the grammar errors in students writing paraphrase, the
writer identified and classified them into 4 types: Sentence Patterns,
Tense, Noun, and Pronoun,. Then the writer made the reconstruction of
the errors which made by the students. Here are the tables which show the
identification, classification, and the reconstruction of the error which
made by students:

Table 4.1 Grammar errors of Student 1

e L. Error )
Identification of error e L. Reconstruction of errors
classification
American  executives tense American executives
always working hard always work_hard
Also it allowed them to | sentence pattern | It was also allowed them
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search partners in
another country around
the world

When he switch the
furniture, he  was
drunk, and their
neighbors were not at
home

Bycycling deaths
eachyear are caused by
head injuries

tense

sentence pattern

to search partners in
another country around the
world

When he switched the
furniture, he was drunk,
and their neighbors were
not at home

Bycycling  deaths  are
caused by head injuries
each year

From the table 4.1, the writer can find grammar error in sentence pattern:

2, tense: 2, noun:0, pronoun: 0.

Table 4.2 Grammar errors of Student 2

Identification of error

Error
classification

Reconstruction of error

Europeans reserve these
times to themselves and
families

Indolink allowed baronia
to search no only in India
but also communities of
expatriate around the
world

It is happened because
most Indians prefer to
choose a couple from
same region of india,

pronoun

sentence pattern

tense

Europeans reserve these
times to themselves and
their families

Indolink did not only
allow baronia to search in
India, but also in
communities of expatriate
around the world

It happened because most
Indians prefer to choose a
couple from same region
of india,

From the table 4.2, the writer can find grammar error in sentence pattern:

1, tense: 1, noun:0, pronoun: 1.

Table 4.3 Grammar errors of Student 3

Identification of error

Error
classification

Reconstruction of error
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Most europeans do not
accept  working in
weekends or holiday
Indolink ads is place for
someone seeking her/him
mate

They prefer their partner
is same in__region
because their have a
similar  religiuos and
socioeconomic
background

noun

sentence pattern
pronoun

sentence pattern
pronoun

Most europeans do not
accept  working in
weekends or holidays
Indolink ads is place for
someone who are seeking
for her/his mate

They prefer their partners
in the same region
because they have a
similar  religious and
socioeconomic
background

From the table 4.3, the writer can find grammar errors in sentence pattern: 2,

tense: 0, noun: 1, pronoun: 2.

Table 4.4 Grammar errors of Student 4

e L. Error ]
Identification of error L Reconstruction of error
classification
American have fewer noun Americans have  fewer

holidays and take shorter
vacation than Europeans
The global reach of the
internet is helping expatriate
citizens of India find
marriage partners have a
similar religious and
socioeconomic background
Indian prefer their partners
to come from the same
region

sentence pattern

noun

holidays and take shorter
vacation than Europeans
The global reach of the
internet is helping expatriate
citizens of India to find
marriage partners, who
have a similar religious and
socioeconomic background
Indians prefer their partners
to come from the same
region

From the table 4.4, the writer can find grammar errors in sentence pattern:

1, tense: O, noun: 2, pronoun: 0.




Table 4.5 Grammar errors of Student 5

32

Identification of error

Error
classification

Reconstruction of error

A defendant admitted
that he did not realized
that he switched furniture
with his neighbors

most Indians prefer to
choose a couple from
same region of india,
same religion, and same

some socioeconomic
background
American executives

who drive themselves has
less relaxation day

tense

sentences pattern

sentences pattern

A defendant admitted
that he did not realize
that he switched furniture
with his neighbors

most Indians prefer to
choose a couple from

India with the same
region, religion, and
some socioeconomic
background

Americans executives
who drive themselves

have less relaxation day

From the table 4.5, the writer can find grammar errors in sentence pattern:

2, tense: 0, noun: 1, pronoun: 0,

Table 4.6 Grammar errors of Student 6

Identification of error

Error
classification

Reconstruction of error

Europeans argue that
Americans is hard
worker

While, most European do
not accept working in
weekends or holidays
The man told the court
he was drunk when he
decided to switch
furniture

sentence pattern

noun

sentence pattern

Europeans argue that
Americans are  hard
workers

While, most Europeans
do not accept working in
weekends or holidays
The man told the court
that he was drunk when
he decided to switch
furniture
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From the table 4.6, the writer can find grammar errors in sentence pattern:

2, tense: 0, noun: 1, pronoun: 0,

Table 4.7 The grammar error of student 7

Identification of error E.r.mr. Reconstruction of error
classification

American have quality noun Americans have quality

time schedule of themself pronoun time schedule of themselves

American have a little American have a little time

times for their holidays noun for their holidays with

with family family

European do not accept noun Europeans do not accept

working in weekends or working in  weekends or

holiday holidays

From the table 4.7, the writer can find grammar errors in sentence pattern:

0, tenses: 0, noun: 3, pronoun: 1,

Table 4.8 Grammar errors of Student 8

Identification of error

Error classification

Reconstruction of

error
Europeans and Europeans and
American have noun Americans have
different schedule different schedule
The holidays in The holiday in america
American its fewer and noun is shorter than in
shorter than Europeans Europe
The global of the tense The global of the
internet helped India pronoun internet is  helping
people  whose live Indias people who live

abroad

abroad
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From the table 4.8, the writer can find grammar errors in sentence pattern:

0, tense: 1, noun: 2, pronoun: 1.

Table 4.9 Grammar errors of Student 9

Identification of error

Error
classification

Reconstruction of error

Europeans argue that
Americans is hard
worker

They have no many
holidays and  short
vacation

Europeans gets free time
in the end of week

sentences pattern
noun
noun

noun

Europeans argue that
Americans are  hard
workers
They have fewer
holidays and  short
vacation

Europeans get free time
in the end of week

From the table 4.9, the writer can find grammar errors in sentence pattern:

1, tense: O, noun: 3, pronoun: 0.

Table 4.10 Grammar errors of Student 10

e . Error Reconstruction of
Identification of error e .
classification error

Most of European do not noun Most Europeans do not
like working in weekends like working in
or holiday weekends or holidays
Expatriate citizens was tense Expatriate citizens were
helping by the global helped by the global
reach of the internet reach of the internet
Indian prefer to search a pronoun Indians prefer to search

partner who same with
they are

a partner who same
with them

From the table 4.10, the writer can find

pattern: 0, tense: 1, noun: 1, pronoun: 1.

grammar errors in sentence
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Table 4.11 Grammar errors of student 11

e L. Error ]
Identification of error e L. Reconstruction of error
classification
Americans have shorter noun .
) ) Americans have fewer
time for relaxation . .
they looking for the same time for relaxation
. they are looking for the

region partners tense

Three-fourth of more
than 1000 bycycling
deaths every year are
caused by injuries on
head

sentences pattern

same region partners
Three-fourth of more than
1000 bycycling deaths are
caused by head injuries
every year

From the table 4.11, the writer can find grammar errors in sentence

pattern: 1, tense: 1, noun:1, pronoun: 0.

Table 4.12 Grammar errors of student 12

Identification of error

Error
classification

Reconstruction of error

But they fewer holiday
and take shorter vacation

More than 1000
bycycling deaths because
injuries

For young Indians who
lived abroad it is difficult

to search a appropriate
partner

sentence pattern

sentence pattern

noun

But they have fewer
holiday and take shorter
vacation

More than 1000 bycycling
deaths because of head
injuries

For young Indians who
live abroad it is difficult to
search an  appropriate
partner

From the table 4.12, the writer can find grammar errors in sentence

pattern: 2, tense: 0, noun:1, pronoun: 0.




Table 4.13 Grammar errors of student 13
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Identification of error

Error
classification

Reconstruction of error

They refuse to do they
works at holiday

They prefer  partners
who has similarities like
them

Five hundreds victims
are school age children

sentence pattern
pronoun, noun

sentence pattern

noun

They refuse their works at

holidays
They prefer for looking
partners who have

similarities like them

Five hundred victims are

school age children

From the table 4.13, the writer can find grammar errors in sentence

pattern: 2, tense: 0, noun: 2, pronoun: 1.

Table 4.14 Grammar errors of student 14

Identification of error

Error
classification

Reconstruction of error

American executives
sometimes _working in
weekends or holiday
However he is not guilty
because when he did it he
was drunk

Indian prefer to search a
partner who same with
them

Tense
Sentences pattern
Tense

Sentences pattern

American executives that
sometimes  work in
weekends or holidays
However he was not
guilty because when he
did it he was drunk
Indian prefer to search a
partner who has asame
with them

From the table 4.14, the writer can find grammar errors in sentence

pattern: 2, tense: 2, noun: 0, pronoun: 0.

Table 4.15 Grammar errors of student 15

Identification of error

Error
classification

Reconstruction of error
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When he switched the
furniture, he was drunk,
and their neighbors
when they were not at
home

Americans does not
have much time for
holidays

They choose to relax
themselfes and families
Baronia estimated that
about half of indolink

ads was placed by
marriage seekers

Sentence pattern

noun

Sentences pattern
Pronoun
Tense

When he switched the
furniture, he was drunk,
and their neighbors when
they were not at home

Americans does not have
many time for holidays

They choose to relax with

themselves and their
families
Baronia estimated that

about half of indolink ads
were placed by marriage
seekers

From the table 4.15, the writer can find grammar errors in sentence

pattern: 2, tense: 2, noun: 1, pronoun: 1.

Table 4.16 Grammar errors of student 16

Identification of error E_r_ror_ Reconstruction of error
classification

Most european refuse Noun Most europeans refuse

working in weekends or working in weekends or

holiday Sentences pattern | holidays

These times reserve to Pronoun These times reserve to

themselves and families themselves and  their
families

For seekers marriage
themselves, they are
allowed by indolink to
find not only in india but
also in  communities
around the world

Sentence pattern
Tense

For marriage seekers, they
allowed to find in india
and communities around
the world by indolink
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From the table 4.16, the writer can find grammar errors in sentence

pattern: 2, tense: 1, noun: 1, pronoun: 1.

Table 4.17 Grammar errors of student 17

e L. Error ;
Identification of error . Reconstruction of error
classification
Who drive them hard Pronuon Who drive themselves

often at the expense of
their family and their
health

Most europeans does not
accept  working in
weekends or holidays.
For live abroads young
Indian, to search for a
suitable wife of husband
become quite difficult

Sentence pattern

Sentence pattern

hard often at the expense
of their family and their
health

Most europeans do not
accept working in
weekends or holidays

For young indian who live
abroads, to search for a
suitable wife or husband
become quite difficult

From the table 4.17, the writer can find grammar errors in sentence

pattern: 2, tense: 0, noun: O, pronoun: 1,

Table 4.18 Grammar errors of student 18

Identification of error

Error
classification

Reconstruction of error

American have fewer
holiday and take shorter
vacation

Most europeans do not
accepted working in
weekends or holiday
Baronia estimated that
about half of indolink ads

was placed by marriage
seekers

Sentence Pattern

Noun

Tense

Americans have fewer
holiday and take shorter
vacation

Most europeans not
accepted working in
weekends or holidays
Baronia estimated that
about half of indolink ads
were placed by marriage
seekers
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From the table 4.18, the writer can find grammar errors in sentence

pattern: 1, tense: 1, noun: 1, pronoun: 0.

Table 4.19 Grammar errors of student 19

Identification of error

Error
classification

Reconstruction of error

Americans schedule full
for working

Half of indolink ads were
placed by marriage
partner  seekers  for
themself

He was having too much
drink when he change the

Sentence pattern

Pronoun

Tense

Americans have full
schedule for working
Half of indolink ads were

placed by  marriage
partner  seekers  for
themselves

He was drunk when he
change the furniture

furniture

From the table 4.19, the writer can find grammar errors in sentence

pattern: 1, tense: 1, noun: O, pronoun: 1.

Table 4.20 Grammar errors of student 20

Error

e Reconstruction of error
classification

Identification of error

American have fewer | Sentence pattern | Americans have fewer
holidays and shorter time time than Europeans about
for  relaxation  than holidays

Europeans

Most of indian prefer to Most of indians prefer to

meet their partners from Noun meet their partners from
the same region and the same region and
socioeconomic socioeconomic
background background

Sentence Pattern | Wearing a bike helmet can
reduce the risk of head

injury by 85 percent

85 percent that wearing
bike helmet can reduce
the risk of head injury
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From the table 4.20, the writer can find grammar errors in sentence

pattern: 2, tense: 0, noun: 1, pronoun: 0.

Table 4.21 Grammar errors of student 21

e L. Error ;
Identification of error . Reconstruction of error
classification
Most European do not Noun Most Europeans do not

accept  working in
weekend.

The global reach of
internet is easier the
citizent of india to find
their partner based on
their criteria

For those who lived
abroad, looking for a
wife or husband is very
difficult

Sentence pattern

pronoun

accept working in
weekend.

The global reach of
internet make easy the
citizent of india to find
their partner based on their
criteria

For them who lived
abroad, looking for a wife
or husband is very difficult

From the table 4.21, the writer can find grammar errors in sentence

pattern: 1, tense: 0, noun: 1, pronoun: 1.

Table 4.22 Grammar errors of student 22

Identification of error

Error
classification

Reconstruction of error

A man will not be guilty
when he accused to move
someone’s furniture

The internet global reach
is easier to help internet
user get mate

According to a

researching, 1000

Tense

Sentences Pattern

A man not guilty when
he accused to move
someone’s furniture

The internet global reach
help internet user to get
mate easier

According to a research,
1000 bycycling deaths
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bycycling deaths every
year and most of them
are caused by head
injuries

Tense

every year, and most of
them are caused by head
injuries

From the table 4.22, the writer can find grammar errors in sentence

pattern: 1, tense: 2, noun: 0, pronoun: 0.

Table 4.23 Grammar errors of student 23

Identification of error

Error
classification

Reconstruction of error

European look at
Americans Schedule and
get conclusion that
Americans have time do
everything

Most  european  not
working in weekdays or
holidays

Baronia also said
indolink allowed them to
search not only in india
but also in expatriate
around the world

sentences pattern
noun

sentence pattern

Europeans  look  at
Americans Schedule and
get conclusion that
Americans have time to
do everything

Most  europeans  not
working in weekdays or
holidays

Baronia also said
indolink allowed them to
search not only in india
and expatriate around the
world

From the table 4.23, the writer can find grammar errors in sentence

pattern: 2, tenses: 0, noun: 1, pronoun: 0.

Table 4.24 Grammar errors of student 24

Identification of error

Error
classification

Reconstruction of error
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American have fewer

holidays and  shorter
vacation.

Most european did not
accepted working in

weekends or holiday

Sentences Pattern

Noun
Tense
Noun

Americans have fewer

holidays and  shorter
vacation

Most  europeans  not
accepted working in

weekends or holidays

From the table 4.24, the writer can find grammar errors in sentence

pattern: 1, tenses: 1, noun: 2, pronoun: 0,

Table 4.25 Grammar errors of student 25

Identification of error

Error
classification

Reconstruction of error

American __have fewer
holidays and take shorter
vacation

European reserve these
times to themselves and
their families, they do not
accept  working in
weekends or holiday
Most of Indian choose
their partner to come
from the same area of

India as they

Sentence pattern

noun

Pronoun

Americans have fewer
holidays and take shorter
vacation

Europeans reserve these
times to themselves and
their families, they do not
accept working in
weekends or holidays
Most of Indians choose
their partner to come from
the same area of India as
them

From the table 4.25, the writer can find grammar errors in sentence

pattern: 1, tenses: 0, noun: 1, pronoun: 1.

Table 4.26 Grammar errors of student 26

Identification of error

Error
classification

Reconstruction of error

most of indians people
has a habit and prefer

Pronoun

most of indians people has
a habit and prefer their




43

they couple to come from
the same region

he was caught and he
pleaded not guilty in the
court

one study concluded that
by 85 percent when
wearing a bike helmet
can reduce the risk of
head injury

Noun

Sentence pattern

Sentence pattern

couples to come from the
same region

he was caught and
pleaded not guilty in the
court

one study concluded that
wearing a bike helmet can
reduce the risk of head
injury by 85 percent

From the table 4.26, the writer can find grammar errors in sentence pattern: 2,

tenses: 0, noun: 1, pronoun: 1,

Table 4.27 Grammar errors of student 27

and leave their furniture

Identification of error E_r_mr_ Reconstruction of error
classification

American people take Noun American  people take
fewer holiday and shorter fewer holidays and shorter
vacation vacation
Many european people Tense Many european people
didn’t want to work in don’t want to work in
weekend or holiday weekend or holiday
He was drunk and he He was drunk and he
thought that they moved Tense thought that they moved

and leaved their furniture

From the table 4.27, the writer can find grammar errors in sentence

pattern: O, tenses: 2, noun: 1, pronoun: 0.

Table 4.28 Grammar errors of student 28

Identification of error

Error
classification

Reconstruction of error
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Americans have more
work day than european
Most europeans do not
accepted  working in
weekends or holiday
Most of Indian choose
their partner to come
from the same area of

India as they are

Noun

Sentence pattern

Pronoun

Americans have more
work days than european
Most europeans do not
accepted  working in
weekends or holidays
Most of Indian choose
their partner to come from
the same area of India like
them

From the table 4.28, the writer can find grammar errors in sentence pattern:

1, tenses: 0, noun: 1, pronoun: 1.

Table 4.29 Grammar errors of student 29

Identification of error

Error
classification

Reconstruction of error

Americans usually work
hard in whole days, they
only accept a few time
for holidays or take
vacation

most of indian people has
a habit and prefer their
couple to come from the
same region

one study cocluded that
by 85 percent when
wearing a bike helmet
can reduce the risk of

head injury

noun

noun

sentence pattern

Americans usually work
hard in whole days, they
only accept a little times
for holidays or take
vacation

most of indians people has
a habit and prefer their
couple to come from the
same region

one study concluded that
wearing a bike helmet can
reduce the risk of head
injury by 85 percent

From the table 4.29, the writer can find grammar errors in sentence

pattern: 1, tenses: 0, noun: 2, pronoun: 0.
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Table 4.30 Grammar errors of student 30

Identification of error

Error
classification

Reconstruction of error

Americans is rare have
times for relaxation but,
they drive themselves
hard often at the expense
of they family and health
But for young indian
who lived abroad become
quite difficult

Sentences pattern
Noun

Pronoun

Tense

Americans  have little
times for relaxation but,
they drive themselves hard
often at the expense of
they family and health

But for young indian who
live abroad become quite
difficult

From the table 4.30, the writer can find grammar errors in sentence

pattern: 1, tense: 1, noun: 1, pronoun: 1.

Table 4.31 Grammar errors of student 31

Identification of error

Error
classification

Reconstruction of error

Who live abroads for
young Indian, to search
for a suitable wife or
husband become quite
difficult

For seekers marriage for
find partner, they
allowed to find in india
and communities around
the world by indolink

For young Indians who
lived_abroad it difficult

to search a appropriate
partner

sentence pattern

sentence pattern

tense

For young Indian who live
abroads , to search for a
suitable wife or husband
become quite difficult

For marriage seekers, they
allowed to find in india
and communities around
the world by indolink to
find a partner

For young Indians who
lived abroad it was

difficult to search an
appropriate partner

From the table 4.31, the writer can find grammar errors in sentence

pattern: 1, tense: 0, noun: 1, pronoun: 1.




Table 4.32 Grammar error of student 32
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Identification of error

Error
classification

Reconstruction of error

Europeans  appreciate
their relaxation time in
holiday or weekends
rather than working hard
The man told the court
he was drunk when he

dicided to switch
furniture

who have similar
religious and

socioeconomic
background like they are

Sentence Pattern

Sentence Pattern

Pronoun

Europeans appreciate
their relaxation time in
holidays or weekends
rather than working hard
The man told the court
that he was drunk when

he decided to switch
furniture

who have similar
religious and

socioeconomic
background like them

From the table 4.32, the writer can find grammar errors in sentence

pattern: 2, tense: 0, noun: O, pronoun: 1.

Table 4.33 Grammar errors of student 33

Identification of error

Error
classification

Reconstruction of error

A defendant admitted
that he was not realized
that he switched furniture
with his neighbors

They hope to get a
couples  which  same
origin and religious
However he is not quilty
because when he did it he
was drunk

Tense

noun

Tense

A defendant admitted that

he did not realize that h
switched furniture with hi
neighbors

They hope to get a couple
which same origin and

religion

However he was not quilty

e
S

because when he did it he

was drunk




47

From the table 4.33, the writer can find grammar errors in sentence

pattern: 0, tense: 2, noun: 1, pronoun: 0.

Table 4.34 Grammar error of student 34

wholive abroad

Identification of error E_r_ror_ Reconstruction of error
classification

American have quality Pronoun Americans have quality
time schedule of themself time schedule of themselves
American have a little noun Americans have a little
times for their holidays times_for their holidays with
with family tense family

For young Indians who For young Indians who
lived_abroad it is difficult livedabroad it was difficult
to search an appropriate to search an appropriate
partner partner

The global of the internet tense The global of the internet is
helped India  people help Indian people who live

abroad

From the table 4.34, the writer can find grammar errors in sentence

pattern: O, tenses: 2, noun: 1, pronoun: 1.

Table 4.35 Grammar errors of student 35

Identification of error E_r_”’r . Reconstruction of error
classification
Most of European do not Noun Most of Europeans do not
like working in weekends Noun like working in weekends or
or holiday holidays
Wearing a helmet risk of Sentences Wearing a helmet can
head injury by 85 percent pattern reduce risk of head injury

by 85 percent
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From the table 4.35, the writer can find grammar errors in sentence

pattern: 1, tenses: 0, noun: 2, pronoun: 0.

Table 4.36 Grammar errors of student 36

Identification of error

Error
classification

Reconstruction of error

American executives that
usually  working in
weekends or holidays

But they have fewer
holiday and take shorter
vacation

Expatriate citizens was
helping by the global
reach of the internet
Cause of injuries more
than 1000 bycycling
deaths every year

Sentence pattern
Tense
Noun

Tense

Sentence pattern

American executives
usually work in weekends
or holidays

But they have fewer
holidays and take shorter
vacation

Expatriate citizens were
helped by the global reach
of the internet

more than 1000 bycycling
deaths every year because
of head injuries

From the table 4.36, the writer can find grammar errors in sentence

pattern: 2, tenses: 2, noun: 1, pronoun: 0.

Table 4.37 Grammar errors of student 37

Identification of error

Error
classification

Reconstruction of
error

Americans does not
have much time for
holiday

Most european refuse
working in weekends or
holidays

For young Indians who
lived_ abroad it is difficult

to search a appropriate
partner

Noun
Noun
Noun

Tense
Noun

Americans do not have
many time for holidays

Most europeans refuse
working in weekends or
holidays

For young Indians who
lived abroad it was
difficult to search an
appropriate partner
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From the table 4.37, the writer can find grammar errors in sentence

pattern: 0, tenses: 1, noun: 4, pronoun: 0.

Table 4.38 Grammar errors of student 38

Identification of error

Error
classification

Reconstruction of error

They looking for the same
region partners in finding a
suitable wife or husband

These times to reserve
about times to themselves
and families

Who drive themself  hard
often at the expense of their
family and healthy

For who live abroads. young
Indian search for a suitable
wife of husband become
quite difficult

Tense

Sentence Pattern

Pronoun

Sentence Patterns

They are looking for the
same region partners

to search in expatriate
communities around the
world

These reserve the times to
themselves and families
Who drive themselves_ hard
often at the expense of their
family and healthy

For young Indian, who live
abroads, search a suitable
wife of husband become
quite difficult

From the table 4.38, the writer can find grammar errors in sentence pattern: 2,

tenses: 1, noun: 0, pronoun: 1.

Table 4.39 Grammar errors of student 39

Identification of error

Error
classification

American  have fewer
holidays and shorter time
for relaxation than
Europeans

Most europeans did not

Sentences pattern

Tense

Reconstruction of error
Americans have fewer
holidays and shorter time
for relaxation than
Europeans

Most europeans not
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accepted  working in
weekends or holidays
Expatiate citizens was

helping by the global reach
of the internet

He said to the cort that he
having to much drunk

Tense

Tense

accepted  working in
weekends or holidays
Expatriate citizens was
helped by the global reach
of the internet

He said to the court that he
was drunk

From the table 4.39, the writer can find grammar errors in sentence pattern: 1,

tenses: 3, noun: 0, pronoun: 0.

Table 4.40 Grammar errors of student 40

partner to come from the
same area of India like they
are

that 85 percent wearing a
bike helmet can reduce the
risk of head injury based on
one study

Sentence Pattern

Identification of error E.r.ror . Reconstruction of error
classification
Most of indian prefer to Noun Most of indians prefer to
meet their partners from the meet their partners from the
same region and same region and
socioeconomic background socioeconomic background
Most of Indian choose their Pronoun Most of Indian choose their

partner to come from the
same area of India like them
one study concluded that
wearing a bike helmet can
reduce the risk of head
injury by 85 percent

From the table 4.40, the writer can find grammar errors in sentence pattern: 1,

tenses: 0, noun: 1, pronoun: 1.

According to the desciption above, the writer can count the students errors into

the classification of errors. Here are the tabulation of errors:
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Table 4.41 The recapitulation of students errors

Total

Error classifications

Pronoun

Noun

Tenses

Sentence

Pattern

Students

10
11
12
13
14
15
16
17
18
19
20
21

22

23
24
25
26
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27
28
29
30
31
32
33
34
35
36
37
38
39
40
Total
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Based on the table, it can be seen that the total number of errors
made by students were 143. The type of error that students made were
errors of sentence pattern, tenses, noun, and pronoun. From the result of
tabulation of errors, errors in sentence pattern were 49, errors of tenses

were 29, errors of noun were 43, errors of pronoun 22.

2. The Most Common Grammatical Error in Writing Paraphrase
As showed on the table 4.41 , the writer calculation the error with

percentage as follow:

49
1) The errors of sentence pattern = 123 x 100% = 34.27%
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29

2) The errors of tense = 3 X 100% = 20.28 %
43

3) The errors of noun = 3 X 100% = 30.07%
22

4) The errors of pronoun =123 X 100% = 15.38%

Thus, it can be explained that the total errors of sentence patterns
were 49 errors with percentage 34.27%, errors of tenses were 29 errors
under the percentage 20.28%, errors of noun were 43 errors with
percentage 30.07%, and errors of pronuon were 22 errors with percentage
15.38%,

From the calculation on the data, errors in sentence pattern were
the most common error made by students with the percentage 34.27%,
otherwise errors in pronoun were the least frequence error made by the

students with percentage of 15.38%.

B. Discussion
In this explanation, the data are taken from students’ writing paraphrase.
The writer classified the students’ grammatical error in paraphrasing. Then,
the writer only focus on five areas those are sentence pattern, tenses, noun, and
pronoun.
1. Sentence Pattern
The error made by students in sentence pattern (49 errors with

percentage 34.27%). The example: they_fewer holiday and take shorter
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vacation. In this sentence should be write they have fewer holidays and
take shorter vacation. Student must add have as a transitive verb
2. Tenses
The next errors that the students made were tenses with the total
number 29 errors under the percentage 20.28%. for example: “When he
switch the furniture he was drunk and their neighbors when they were not
at home”. The sentence should be written: When he switched the furniture
he was drunk and their neighbors were not at home.
3. Noun
Students made errors of noun were 43 errors with percentage
30.27%. The errors made by students in this type were the absence of the
suffix es/s in countable plural nouns. For example: “Most europeans do
not accept working in weekends or holiday”. In this sentence, the
underlined word need the suffix s, and the context of the sentences showed
that they should be form plural noun, but it has been omitted by students
Another example of noun error made by student: “ American have
a little times for their holiday. In the second sentence, student add s on
time but the student use determiner a little in the sentence. So, the s must

be omitted

4. Pronoun
In this research, pronoun errors was not found as much as the
other errors. They only had the total number 22 or 15.38%. The student

still got confused to write the correct pronouns. As an example of the
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sentence that they wrote: " They refuse to do they works at holiday. In this
case, students should subtitute object pronoun into their. Another
example: “Indian prefer to search a partner who same with they are. It
should be written: “Indian prefer to search a partner whose same region or
religion with them. Both examples showed that student were confused in

using object pronoun.



